2 RARE=SIVTBRERR

Ei L] #5832 (Ba/kg)
NO | WG | WERR | WEH | oey il samw) | mme |y REA (e, 290, 2HRE il BEE | G | wmn | 014 | o197 | ostE
1 %f”ﬁb,j BER WhEM — I REY BERRLLM=F i3 BERRRRE VS Ge H25.2.19 | H25.2.22 <31 <25 <56
2 %f‘ffp,j BEER WhE — FEE REY ERGEHT it EERRERE I Ge H25.2.19 | H252.22 <37 <28 <65
3 %f”ﬁb,j BER WhEM — I REY BRGHT )54 BERRRRE V- Ge H25.2.19 | H25.2.22 <33 <29 <6.2
4 %f‘ffp,j BEER fREm — FEE RED ERFEN=F it EERBRERE I Ge H25.2.19 | H252.22 <42 6.37 6.4
s (REE_, | #eR | uwbEm — FHER | REN SEOES 5 ERRRRNA L 5— Ge | 2221 | W22z | <52 | <as | <10
6 %f‘ffp,j BEER HhET — FEE BEY ZEDES 5223 EERRERE I Ge H25.2.19 | H25.2.22 7.88 1.3 19
7 %fﬁb,j BER Bl - B BEY 4+A — BERRREEEVS— Ge H25.221 | H25.2.21 <65 <67 <13
8 %f‘ffp,j BER Blm — FEE BEY 47 — EERBRERE I Ge H25.2.21 | H25.2.21 <6.1 <17 <14
9 %fﬁb,j BER Bl - B BEN 4+A — BERRRBEEVS— Ge H25.221 | H25.2.21 <80 <67 <15
10 %f‘ffp,j BEER LWhET — FEE BEY 47 — EERBRERE I Ge H25.2.21 | H25.2.21 <84 <14 <16
11 %fﬁb,j EBR WhET - FETE & BEY 4B — BERRRBEEVS— Ge H25.221 | H25.2.21 <87 <57 <14
12 %f‘ffp,j BEER LWhET — FEE BEY 47 — EERRERE I Ge H25.2.21 | H25.2.21 <96 <82 <18
13 %fﬁb,j BER WhEM — B SR BEY 47 — BERERRRE V- Ge H25.2.21 | H25.2.21 <69 <91 <16
14 %f‘gﬁp,j BEER LWhET — FEE BEY 47 — EERRERE S Ge H25.2.21 | H25.2.21 <15 <16 <15
15 %fﬁbd BER WhEH — B SR BEY 47 — BERERRE V- Ge H25.2.21 | H25.2.21 <78 <68 <15
16 %f‘gﬁp,j BEER aEm — FEE BED 47 — EERRERE I Ge H25.2.21 | H25.2.21 <17 <13 <15
17 %fﬁbd rER & — ERBER BEY 45 — BERERRRE V- Ge H25.2.21 | H25.2.21 <9.0 <87 <18
18 %f‘ffb,j BEER KEH — FEE BEY 47 — EERBRERE S Ge H25.2.21 | H25.2.21 <15 <56 <13
o (FRE | mem | —xww — FaER | EEn 4 - ERRRRNA L 5— Ge | H2s221 | W22t | <80 | <a7 | <17
20 %f‘ffb,j EER BEm — FEE S BEY 47 — EERRERE S Ge H25.2.21 | H25.2.21 <93 <19 <17
o (FBE | mem | —#nw — FaER | wEn 4 - ERRRRMA L 5— Ge | 2221 | W22t | <s0 | <78 | <17
22 %f‘ffb,j EER =&HT — FEE BED 47 — EERBRERE S Ge H25.2.21 | H25.2.21 <13 <67 <14
23 %fﬁbd BER =HHT — ERBER BEY *H — BERERRRE TV Ge H25.2.21 | H25.2.21 <9.0 <176 <17
24 %f‘ffp,j BEER B — FEE BED 47 — EERBRERE I Ge H25.2.21 | H25.2.21 <638 <10 <14
25 %f”ﬁb,j BER Bl - B BEN 4+A — BERRREEEVS— Ge H25.221 | H25.2.21 <714 <73 <15
26 %f‘ffp,j BEER ARENT — AR BED 4QA — EERBRERE I Ge H25.2.21 | H25.2.21 <81 <79 <16
27 %f”ﬁb,j rER AR — ERBMR BEY B! — BERERRRE V- Ge H25.2.21 | H25.2.21 <82 <72 <15
28 %f‘ffp,j BEER A — AR BEY 4A — EERBRERE I Ge H25.2.21 | H25.2.21 <95 <85 <18
29 %f”ﬁb,j BER ARl — FERBR BEY *H — BERERRRE V- Ge H25.2.21 | H25.2.21 <71 <86 <16




KEER

Ei

ZDith
Gisig, )1l MRS

m B
2
(Fih, BB, LBERE

REX

REE
(BBEAR)

R
RiLIS!

#58 (Ba/ke)

Cs-137

2
4

Ba

R
E=HULY

=
Hol

7

Ge

H25.2.21

H25.2.21

<6.9

<15

RaH
=LY

e
ol
m

7

Ge

H25.2.21

H25.2.21

<6.6

<14

R
=AUV

=
Hol
m

7

BEERREREG VS

Ge

H25.2.21

H25.2.21

<6.4

<13

RaH
=P

e
ol
m

7

ERREERE VS

Ge

H25.2.21

H25.2.21

<72

<15

R
E=HULY

=
Hol
m

7

BEERREREG VS

Ge

H25.2.21

H25.2.22

<70

<13

RaH
=YY

e
ol
m

7

ERREERE VI

Ge

H25.2.21

H25.2.22

<73

<13

R
E=HULY

=
Hol
m

7

BEERREREG VS

Ge

H25.2.21

H25.2.21

<717

<16

REH
=P

e
ol
m

7

ERREERE VI

Ge

H25.2.21

H25.2.22

<6.5

<14

R
=AUV

=
Hol
m

7

BEEREREREG VS

Ge

H25.2.21

H25.2.22

<6.5

<18

R
=YY

e
=)
m

7

ERREERE VS

Ge

H25.2.21

H25.2.21

<70

<15

R
=AUV

7

>N

BEERREREG VS

Ge

H25.2.21

H25.2.21

<57

<12

R
=YY

S

7

ERREERE VI

Ge

H25.2.21

H25.2.22

<82

<15




